Ve B
EASUN

Standard Cylinder

Product Code System

C

haracteristics

Http://www.china-easun.com

4 Using TEFLON material bushing, lubrication is not required.

@ Adjustable cushion is in the front and end cover for shock resistance.

#High Temperature type cylinder is optional. The special seals will be adopted to be suitable up to 150C.
@ All kinds of accessories are available.
#Sensor could be used for position the magnetic type cylinder.

ESC — 50 x 50 — S — LB ESC — 50 x 50 — S — LB
T T T T T T
Ik B NI RER BE AR Inner Inductive Mounting Type
S LI =G, EAR Diameter Magnetic Ring Blank:Basic
EiUR= 752 =H: AR LB EE RS Model Stroke S:With magnetic ring LB: Front and Rear Fixation
WA A FABTE 25 Double Acting Blank:Without magnetic ring FA:Front Flange
FB:E;‘fgﬁ FB:Rear Flange
TC:’FIE%S?_%&J TC:center trunnion type
TC—M:§s i 55 [ e s B TC-M:Center Trunnion With Plank Type
CAEERETBER CA:Rear Male Clevis
CBEXEEWNER CB:Rear Clevis
Symbol Example
Afororder of the ISO standard double acting(tie-rod) TC fixed pattern cylinder which
/U] i 1 ﬂv the inner diameter is 50mm , the stroke is 50mm , the magnetic ring is attached to, the
{ { ‘ correct order code is: ESC-50x50-S-TC
Specification
£ 12/ Inner Diameter (mm) 32 40 50 63 80 100 125
ZH1EE X/ Action W AE B Double Acting
T {E4r B/ Fluid 23 ERES4 =S/ The constrirgent after filtered
£ & R/Fixing Type #k%/Basic FA FB CA CB LB TC TC-M
& A JE 7135 B/ Range of Working Pressure MPa 0.05~0.9
{RIET E 51/ Proof Press MPa 1.35
& AR ESEE / Operating Temp T -5~70
1 F#EESEE / Piston Speed mm/s 30~800
£& WA/ Cushion ATE % 4/ Regulabe Cushion
22 1772/ Cushion Stroke mm 20 20 26 25 25 35
EERL/ Port Thread Gi/8 G1/4 G3/8 Gir2
Cylinder Stroke
[EEYp—
&% (mm) — gAre | FAOE
. ~E1THE/ Standard Stroke Permisslible
Inner Diameter TR Max Stroke Stroke
32 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 1000 2000
40 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 1200 2000
50 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 900 1000 1500 2000
80 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 900 1000 1500 2000
100 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 900 1000 1500 2000

*Please contact us if you want special stroke cylinder



Dimensions

ESC
O32~0125
A+i772/Stroke
B C+{772/Stroke
os
E F G G oT
H e 2.0 N |
T A e —— _
T
Ky = 1IN AP A L HO
Q
i n:‘
gnY anY
N\ \J
Q 2- iR §7 Q
2-Cushion Screws
ow/ | === = —_ = === - ==
8-L &AM /Depth M
#s
#1#2 . Code A B Cc D E F G H | J K
Inner Dia.
32 140 47 93 28 32 15 28 22 17 6 M10x1.25
40 142 49 93 32 34 15 28 24 19 7 M12x1.25
50 150 57 93 38 42 15 28 32 22 8 M16x1.5
63 153 57 96 38 42 15 28 32 22 8 M16x1.5
80 183 75 108 47 54 21 33 40 30 10 M20x 1.5
100 188 75 118 47 54 21 33 40 30 10 M20x 1.5
125 234 98 136 60 73 25 40 54 38 12 M27 x 2
#S
5 Code L M N (0} P Q R S T \' w
Inner Dia.
32 M6 x 1 15 14 G1/8 5 6.5 6.5 46 33 12 10
40 M6 x 1 15 14 G1/4 6 6 8.5 51 37 16 14
50 M6 x 1 15 14 G1/4 7 5 9 62 47 20 17
63 M8x1.25 14 14 G3/8 7 5 10 75 56 20 17
80 M10x1.5 17 16.5 G3/8 7 5.5 11 94 70 25 22
100 M10x1.5 17 16.5 G1/2 7 9 11 112 84 25 22
125 M12x1.75 16 20 G1/2 - 12 - 140 110 32 27




M Structure Chart

20

F 5 1 2 3 4 5 6 7 8 9

& W HEH EEN IR B %5 £ B 2R S AT AT IRSTOR E 1EZh S El AT

ok R {:32:3:7) NBR R %5 SaH# BEE NBR PG 5

F 5 10 11 12 13 14 15 16 17 18 19 20

& W B /R HORE ZihE SR [t EEAORE | AATHE IR EE E2237 RN f IR 4T =

R NBR NBR R 5 BEE NBR NBR B BEE SEaHE X3 HEE
No. 1 2 3 4 5 6 7 8 9
Description | Piston Rod | Piston Rod Nut |Dustproof SealRing | Pull Rod Nut | Guide Sleeve | Front Cover | Adustable Screw O-ring | Retaining Ring |Adjustable Screw
Material  |Medium Carbon Steel | Mild Steel NBR Mild Steel | Composite Material | Aluminum Alloy NBR Stanless Steel Copper
No. 10 11 12 13 14 15 16 17 18 19 20
Description | Fionté Rear Cover O-fng| Buffer Ring|  Screw Cylinder |Piston Rod O-ring| Combined Seal Ring | Magnetic Ring Piston | SupportRing| AllenScrew | Rear Cover
Material NBR NBR Medium Carbon Steel | Aluminum Alloy NBR NBR Plastic Aluminum  Alloy | Composite Material | Medium Carbon Steel| Aluminum Alloy




